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"11q:s1 (mill!r l!Tltf) 1 J'il< ~l!T if Rct>'ft 2090 3f\Eilfilct> 4R41\J1'11'3!l <fit •;11J:s !ilfcl>•1 

~~14 ;:ft (\Jfl llfl~-3) 3 \ifT Cf>l ~F© '13> if ~ I ~~~ I n(l14 C!WA ;::i1"R ~l!T i); ffi Cf> I~ <fit 

~ <ll'lct>< \3~ I~l!T <fit 75 $\JI I< ct><l$ ~ i); f.'1cll!T ~~ 4R41G1'11'3!l Cf>T ~~l'lti?ft 

~~ fgf\Jl<::cl ~ 1!"1'1 <Ril1 ~ 26,378 ct><19 ~<fit 4R41\J1'11q .Jli};~ •ndl4C!WA 
;::i1"R if f.1cll!T ~~ti ~l!T i); R111\Jl Jeil•1qfdtjf <fit ifl'{G•ft if 4R41\J1'11'3!l ct>T ~<ldcl ~ 

~ Cf>T Cf>l14 ~~I \J1'14G ~~ "11qs1, m "11qs1 .JlR lllj'll ~ af?T i); .JlcllCll 

wft'Eft:s1~183 f.1cll!r 4R41\J1'11'3!l ct>T fgf\Jl<::cl ~ 1!"1'1 fchll1 \J11q•111 <fi;i" ct><19 ~~ 
~ Cf>T f.1cll!T ~ crffi Jeil11qfd cl'l9'13l i); ~ 'llidf !'lfdl31'1 if '11141Nld ~ crffi 
'qCZl' ~141'<1$ if ~<Cf>d <Ril1 •ndl4C!WA ;::i1"R ~ 155 Jeil•1qfd ~141'<1$ Cf>T %'HI 1m1 ~ 

'11 cl ICl I <fi;i" ct>'tl $ ~ Chl4' Cf>T f.1cll!T ~ crffi ct><ft ill 100 JEI i:ft ~ if <$Cf>( ~ cl 1$CI ~ f1:i•I 
~ ~14Rl$ Cf>T %'Hll m1 \J1'14G '@;ftq Cf>IQs:tll4 i); ~\JI~ \Jiii$ ~m\Jllq•ft I 

ll lj'l I af?T if ~ill~ \illIGI f.1cll!T 

~~14 ;:ft if ll lj'l I ffi Cf> I~ ~ \JI '1 q G if ~ <ll ~ \ill IGI f.1cll!T <fit 41\JI '1 I'3Jl Cf>l 1Tfc!r ~ I 

~ ;1" ¥f 10, 138.25 ct>'t19 ~<fit f.1cll!T 41\Jlrtl'3Jl Cf>l l!llfilcl fchlll t1 $'"'11l 3800 

ct><l9 ~<fit i)fgCf)cl fgCll$~ qrci; '3lR 3500 ct><l9 ~<fit '3!QO(cl qrci; 41\Jl'll t1 ~ 

'11 cl ICl I ct><ft <ll 3 8 qct>9 \JI i:ft rt ~ 9 5 3 .3 Cf)(]$ ~ f.'1cll!T ~Wl'f I~<ll cl cffiCRfl f(};Ci"l Cf>T 

;:rT11 ~ l!IIfilcl t I 

Gflllfl~-3 if \JI rt 4 G <fit <iffelCf> I 

af?T ~¥f f.1cll!T 'tl\Jllll( 

"11q:s1~39 8,224.71 54,596 

~~ 44 7,669 67,602 

lllj'll ~ 12 10,138 --­

wft'Eftsl 88 346.87 3039 

(rtlc-f.1cll!T <fit~ ct>'t19 ~if t1 ) 
\J1'14G if f.1cll!T ~~ cJq-5 cf>qf.lqj 

-11e;1;:ft $<::<!'11$cil\Jl Rlfil2::s 4900 ct><l9 

141$¢fll~'fCR $fgq1 1000 ct>'t19 

'1!1JCllcl q~~q<_~ 448.96 ct><l9 
fgCRlrt 2:CR1cl'f\Jfl 270 ct><l$ 

c1i!r crcm sfgq 1 197 ct><l9 

'3!liT3ih:ft Cf>T R~ 111 \JI cl Cl I 

lllj'll ~ af?T if 3500 Cf>'tl$ ~ f.'1cll!T ~ '31Q'<cl qrci; 41\Jlrtl Cf>l ~'<ldcl ~~ 
<fit <1lll<ft t1 ~~14;:ft if ~~l'lti?ft i); ~ 'l!fill!"1rt ~I 'C{Cf> \J1'14G-'C{Cf> J(tllG 41\Jlrtl i); 

d$d ~141'<1$ if \Jl'l4G ~ G1° 'Rlcl ~~l!f;ft if cl'IIq \JI Iq~ I -clRid §Cf>'< Icl, i1ll<ilrt-"11qsl 

'11 Q(cl qCRI till Ck"t'R'< 

'1ifd14 GR if <1ll 1Rll i 

IJIJ:S !ilfcl>•1 ~~14;:ft ct>T ~Cf>< \Jlrt4G ~~ <1ll1Rlli 3jfd14 GR if T«'f ~ t. 'Gtl' Jeil•1qfd 

~141'tl$ if cl'l9'13l "'l1ff \jj"f ~cl;~, Jrtcl> ~ \J1'14G ~~ cll$CI ~fl:i•1 Cf>T Sd\11114 Rhlll 

\J11q•111 ~~ q'Cf> l"d$1S f.1cll!r •ndC!WA ;::i1"R ~~ \il'T ~ti -.Jlf.lcl §141<. \341¥' 

(\3M I J ) , I n(l14 C!WA ;::i1"R 

~if 70 $\Jll( ~'3!l ct>T fil~•ll <l\Jl•ll( 

mritqs1 i;i1J:s !ilfcl>•1 ~~14;:ft if m •f1q:s1<fit44 cf>qf.lqi %'Hl1 ~~g, "llcf>qf.lqi 70 

$\Jll'< ~'3!l ct>l 'tl\Jl•ll< i); -11<'1~< !'141'1 ct>{•ft I ~~14;:ft i); \JJR~ ~ ;1" ~m~ffi11, 

'tldllR:CRI, ~~Cf $~~'ff.lCRI <fit d'<lfi \ft Cf>Gl4 ~ R<:IT t1 ~ i); ~3ll~ 
~ ;1" ~thCl I< ct>l '3n:A .Jf~ i); m~ a6ct> ~~ ct>l4th14 if %'HI I~ i); ~ <1ll1R4l 

<fit wflarr ~ <fit ~I ~ 


